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goooon
goooobbog ooobod

goooon
godoooobuogogn
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dooogouooboood
gobooboobooood

ooogo

o000 AoOO0OO0OO0OODAODODOOBOOOODOODOO

Aoo0ODOOoOOooOooDOoO

AO0O: Al,..., A5 0000 O0DOO0OOoO0oOooooooooo
googoobobboooobbobooo

BOO: B1,...B12 0000 DO0ODO0DOOO0OOOOOOOOO
gboogoobbboooobbobooo

ggbogsugobobogbooobboooodbboboooobobuaabibn

gogbboboooobbobooooobbboooggonbooo oo

goboooogoooboobodan

ggbbobuoooooboboooobobobooooooo

ggbobuooobbobodan



AO| oo xooooyoOooOo f:X—yOOOOO

(1) X02000000 4, BO000, f(ANB) S f(ANf(B)0000000000O
(2) 0020000 (), () 00000000000000

(a) 00 fO0000000C

(b) 00 X O0OOO2000000 A, BOOOOO, f(ANB) = f(A)N f(B) O
0oooo



Al 0o0o0On0000,2,0000000000M=M,(C)000000,AcM
000D0,A0000000000 (4)000000000000,A=(a;) 0000
0, tr(A)=%r,e; 000000000000,CO0000000000000,0000
00000

1) f:M—-CO,0 AeMDODOD0D0 f(A)=tr(4) 000000 fOCOOO00O0O0O
0000000000

(2) tr(E;A) DOODOODOO, E; 0 (1) 00000 1000000000 0000
oo Moooooo

(3) (H)OOOO fO00000AeMOIOOO
VBe M OOOO BA € Ker(f)
000000000000 o0U0D,A=0R0O000)000000DOOOODO
(4) 00 (2),(b) 000000000

(a) ABe M OOOO, tr(AB) = tr(BA) 000 O
(b) AcMOODODOO PeMOOOO, tr(P*AP)=tx(A) 0000

(5) AeMODDODO,wr(A)0,A0 nO000O00O0O0OOOODODOOOOOOOOOO

S | 1 — 2 4 22
A2 DDf@%:/ T dr —log—=2** (,<1)0DDO00DO0
0

-2 +x—1 1+ 2?
gooo.

(1) f(x) 0O0OO.
(2) f(x) 0000000 Taylr 00 0000000000000,

(3) (2)00000000 z=10000000.



A3| »0000O0DOOOOR'OD0O0Oz= (21, ,22)0 y= W, ,yn) O
00 do(z, y) O doo(z, y) DODOO OO

oond
dm(xa y) = Max{|$1 - y1|7 e ,|ZEn - yn|}

O00000000000000 Xo=R",dy)0O Xoo=R",d,) 00000000 OODO
goobooogn

A4 0000000 X,YOODOOD,00000 (0,1)000000 (uniform distribu-
tion) J000DODO.

(1)
(2) 0 V=XyOOOooooooo.
)

Uuv=X+YUOOooooooo.

3) 0 W=X/Yyooooooooo.



A5 Pascal DD ODOOOOOOOOODO

const n = n;
type nArray = array [l .. n] of integer;

procedure p(var a : nArray);
var i, j : integer;
begin
a[l] =1,
i:=1;
while sqr(i) <= n do begin
if a[i] = 1 then begin

j = sar(i);
while j <= n do begin
alj] := i;
Ji=]+1
end
end;
i=i+1
end
end;

0000000000000 00DO00000 ab0OnArray0O0D0OO0OOODODODO pO
p(@a)0 0000000000000 «a00000O0000ODCOO0O0O0ODO0OOO0OO0OnN
200000000000

(1) 00 {i2<i<nAali=1}000000000

(2) 00 a00001<i<n00 i00000al]#£100000 0000000
0000000



Bl| c¢onoooosgooooooooQ={1,2,---,,)00000000000
00000000000 00000{1}GGSS,00000000eeGOONicN=
{1,2,---,n}000#0000GOOO0OO0

i = (i)Y (a,b € Q)
D0000000D0GUOUOOODNODO000D 1000000000

(1) i,7eQUOOOOOi~j0 =700 e GOOOOO0O0O0OO0OOO0OO0OO0O~
ggboobooogbobod

00, (1) 000000000 ieQO000000¢ ={"|eec @G 0000000
Gi={acG|i*=i0000

(2) G;0 GOOO0O00O0OODOOOOOO

(3)i€eQO00O0000DD«“ 000000000 | 0|G:G0GE0000 G, 00
000000000000

4) aeGOi,jeQ00000=,000000
a_lGia:Gj gog Gla:{beG\@b:j}

goboooooogn

(5)“=Q0000GO0O0O0000000G;={1}000000000

B2 R=kXY, 7 00DkKkOOOOOOOOOI= (X%, X3Z)RO0O000ORDOODO

0000 /00000000 V()OO0 0OO0O00 v(J)00o0o0000oooooooo
0000000 Min(J) 000 O

(1) Min(/) 000000000

(2) RODDDOOODOOD POOOOS={aeR|agP}000D00D00000OO
afulln

(3) PeMin(J) 0 X ¢ POOOOOO Rp/IR, 0000000000000 O0R
0 RO POODOOOOOORO S={acR|agP}00000 S'ROOODOO



B3 xoooooooo

o000 DODDO0OO0: <o>,<p>,<q>,<r>, <85>,
JUOU0 10000000 <op>,<oq>,<or>,<08>,<pq>,<qr>,<rs>, <sp>,
2000000200000: <opg>,<ors>

0000000000X00000000000 H(X,R), ¢=0,1,2,... 00000

B4| ooooz20000000000000 MR O00000 f: M(2,R) — R?

f v oy \ [ rw—yz
z ow | T+ w
D0D0OM@ZR)D40000000000R' 00000000 f'(e))T M(2,R) O

gobooo ZDDDDDDDDDDDDDDDDDDDDDe1:(é)ERZDDDEI



B5 ROODODODODOOOOODOO MO OODODDOOODODmDODO f(o)ODRODODO

gboobooooobooo.

ﬂEﬁiéﬂ@mM@(EemODDDDDDDDDDDDDDD.

(1) pOMOODOOOOOoOoDOOD.
(2) p(F) <4+oc00000O
Ve>0,30>0; ACE, m(A) <é00000p(A) <e

gogboooga.

B6| ooooooooo.

(1) f(z)0 C—{0}00000 g(¢)=f(})0 C-{0}0000000000000

(2) 000020000 f(z) 000 200000000000000 f(2)00000
000000000000000.

(3) 00000000 f2)=(-a) - (-, 000000000000000
00 f(-)00000000000000000000000



B7 y.y,000 20000

vy - (W) 4= (0, o1s) M= () @PEO

&y [
Oo0doo odooogoo. ood d—:(jfl)DDD.
i

dx

ay
() DoooOooooooDoooo d—:AYDDDDDDDDDDDDD.
x

dy
() 00000 —— =AY 000,
X

Y
@)DDDDD%—:AY+M@DDD.
X

(4) (3) 000000 a+68=0,f>00000,00000000000



B8 000000000 NOOO,NOOOOOOOOOOOO w0 suplu(z) <1

zeN

000000000000 TrO000.X0YONDOOOODOOD,000000000
000000 fx(z), fy(z),zeNODOD.

(1) 00D wel DOODO
[BEu(X)] = Eu()]] <) [fx(@) = fr(2)]

0oooooooooo.
(2)T000 w0
|E[w(X)] = EluM)])] = ) | fx(x) = fr(2)|

DooDoOoooooo.
(3) d(X,Y) =sup|E[u(X)] - Eu(Y)|00000. 0000

uel

d(X,Y) =2sup|P[X € A] - P[Y € A]
ACN

gobbooogogobn.



B9 X1, X0,...,X,, 000000000 000000 (exponential distribution) O O

O0o0oo00o0oobbooooX; 0o bobbooooooboooooooo
f(x|0) = 070" (x> 0)
O000dfé>00000000000000O0000OO0

(1) 0000 S=> X, 000000 Ms(t)=E(S) 0000,

=1
(2) SO000 E(S)000 var(S) 00000

(3) 0000 Y:S/nD_DDDDD A=1/0 000000 (unbiased estimator) 0 O O
goobbboooXxXboooooo.

(4) 00000 0000 O0O0DODODOO (Fisher information) 1(0) O

1(0) = —E {a% [Z logf(Xz-IG)] } =5

gogooboogd

(5) ANOOODDOODOOODODOOOO (Cramér-Rao lower bound) V' =
000000000X 0O 2000000000000 (UMVUE)DDODODOOOO
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B10| » k(<n) 0000000000 FROOR000000000VOOOKD
D0000000CO000000. VOOOOO v = (vy,v9,---,0), v € Fy (i =
1,2,---,n) 00000000 wv)DOOODODv 000000000 (0000)0000
O00. 000VOOODOO00Ow, w0000 dw,w) 00 dv, u) = wv—u) 00
000.0000000000000.

1. (A)J000O0oocooooooog 44C)0, 0000000000
pin (C) = min{ d(v, u) | v, u € C,v # u}
gugooogbobbbboboooooad.
dpin(C) = min{w(v) |[v € C, v # 0}

(B) dmin(C) >2¢t+1 (+000000)0000200000000000000

ooooon
t
S(5)=
1

=0
2. k000000000 COORDODO (-kxn 00 HOOOODOODDOOOODO
C={v|Hv'=0,vc VRo"O000000000
D000D00O0Oooooon.

(A) D0 HO n0O000 (#0)0000000000d,(C)>300000000

(B) dpin(C)>400000 H 0000000000 —4)0003000000
0000000r k0000000000 00000000O00n, k00000
000000000001.(A)00000000000000000000000
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B1l1 00 Scheme 0 0000000000000 O00O0O0OOO0

1. 0 (define a (fc)) OOOOOODOOOODO

2. 00000 () 000000 30000O0DOOODOOOOOnO
3.0 ¢33y 00oooooooon

4 000 fO0000000O0O0O00OO0OO0O0O0O

Scheme O OO O0O

(define (fc) (let ((c 0)) (lambda () (set! c (+ c 1)) c)))

(define (f n)
(letrec ((x 0) (a (fc)) (b (fc)) (c (fc))
(g (lambda (n) (cond

((=n0) () 1)
(=n1) () D
(else (¢) (+ (g (-=-n 1)) (g (2NN

(set! x (g n))

(list x (- (a) 1) (- () 1) (- (c) 1))))
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B12| 000000 (combinatory logic) 000 CLw 0000000000 OCLw

00000 (primitive symbol) 0000000 27,7y, 2. 0’K,)’SY 00000000 2
o000 ()Y ooooCLwOOoOoOoOoOoOoOoOooOoOoOoODOOODOOODODODODDOO
0,(1)000000000000,@Q) MO NDOOODO (MN)OOOOD,00000
000000000000000000000000000000, SeyS 00 (((Sz)y)S)
ooooboooMO NOODOOOOO, My NOOOD Me>NOOO 2000000
CLwOOOODOODODODOOOOODOOOOO0OO0O0O0O,0b000000o0oDoOobooOoOoa
O000dbO00dbObO0o0ooDbOo0bDoOo0oobOo0ooDbOo0obDOD CLwOooooooag 3
goooaod

(K) KMN > M

(S) SMNRw>; MR(NR)

(p) M>M

OO0 CLwOODODOOODO 300000

N> R () M> N (l/)
MN>, MR ‘W, MR>; NR ‘",

Mp>y N NDR(T)
M>R .

0M> NODOOOO CLwOOOOO0O0000, My, NOODOOOO,0 M>NOO
000 CLwOOOO0OO0OO0OOOO,M>, NOOODOM>,NOOOOOOO NOOOO
00O00,0 MOOOO (normal form) 000, 0000Mp>, NOOO NO OOOO
00,NO MOOOODOOOO000O0 S(KS)KO BOOOOOOODO,0 S(BBS)(KK)
0 CO000000000000000000

1.0 Beyz: O0OODO0OOOO0OO(MBryz>000 OOODODOODODOOOOOOOO,00
O000000ooooooon)

2.0 Cxyz 000000000 (Czyz>000 OOOOOODOODODODODOODODO,OO
O00o0o0ooooooooooo)

3. M,NOO N>, ROOO M, ROOODODOOOOODDOM@CUOO: M>NO
O000000Uooooooooogoon)

13



